
����� ��������� ��������� �������� ��� ���� �� �� ����

�������� �� �� (X,A) �� �������� CW �������� ���� ���� ����� ��� �� ����� �� ���������
≤ n �� X \ A� ���� (X,A) �� n�����������



����� ��������� ��������� �������� ��� ���� �� �� ����

�������� �� ��� [X, Y ] ������ � ��� �� �������� ������� �� ���� ���� X �� Y � �� (X, x0)
�� � ���������� ��� Y �� ������ ���������� ���� [X, Y ] ∼= [(X, x0), (Y, y0)]�



����� ��������� ��������� �������� ��� ���� �� �� ����

�������� �� ���� ���� ��� �������� ������������ �� ��������



����� ��������� ��������� �������� ��� ���� �� �� ����

�������� �� ���� ���� ��� �������� ������������ �������� ���� ���������� ��������
������� �� ������ ��� (X,A) �� � ����� ���� ���� ��� ��������� ������� ���������

πn(X,A, x0)
∂ ��

h
��

πn−1(A, x0)

h
��

Hn(X,A)
∂∗

�� Hn−1(A)

����� ∂ �� ��� �������� ������������� h �� ��� �������� ������������ ��� ∂∗ �� ���
���������� �������������



����� ��������� ��������� �������� ��� ���� �� �� ����

�������� �� ���� ���� ��� �������� ������������ h : πn(S
n) → Hn(S

n) �� �� �������
������



����� ��������� ��������� �������� ��� ���� �� �� ����

�������� �� ��� ���� �������� S1 → S3 → S2 �� ������� π3(S
2)�



����� ��������� ��������� �������� ��� ���� �� �� ����

�������� �� ������������� �� ���� ���� deg(f) �� �� ��������� �� [Sn, Sn] = πn(S
n)�

����� [S2n−1, Sn] ∼= π2n−1(S
n) ��� �������� ��� �� ������ ���� ��������� H(f)�



����� ��������� ��������� �������� ��� ���� �� �� ����

�������� �� ���� ��� �� ��� �� ���� ���� ����� ���� ���������� ��� n ��� ��� ��� n �����



����� ��������� ��������� �������� ��� ���� �� �� ����

�������� �� ���� ���� H(f) = 1 ��� ��� ���� �������� f : S3 → S2�



����� ��������� ��������� �������� ��� ���� �� �� ����

�������� ��� ���� � ��� f ���� ���� ��������� H(f) = 2�




